Installation Guide

1. Tighten #6-32 screws to secure add-on cards

Expansion Card Assembly

ATX PSU Assembly

1. Tighten #6-32 screws to secure PSU

Mini Redundant PSU Assembly

1. Loose 4 screws on the PSU bracket

2. Remove the PSU bracket

3. Tighten #6-32 screws to secure PSU

Major Components

ATX PSU or Mini Redundant PSU

Internal 2.5"HDD

Three 80mm Fans

Four Low-profile Expansion Slots

Micro-ATX M/B

3.5” HDD Trayless Hot-Swap Bay

Reset Switch

Power Button & Power Indicator

USB 3.0

Micro-ATX M/B Assembly

1. Tighten #6-32 screws to secure M/B

2.5"HDD Assembly

1. Loose 2 screws on the top to take out the 2.5” bay bracket

2. Tighten M3 screws to secure 2.5” HDD




